
 

Govt. Pt. Shyamacharan Shukla College,Dharsiwa, Raipur (C.G.) 
Assignment - 2019-20 

(Only for Regular Students/dsoy fu;fer fo|kFkhZ gsrq) 

B.Com. Part II 
Group-III- Paper-I 

¼ BUSINESS STATISTICS / O;kolkf;d lkaf[;dh½  

 

                Max M. 75 

fdUgh ikap iz”uksa ds mRRkj nhft,A izR;sd bdkbZ ls ,d iz”u djuk vfuok;Z gSA lHkh iz”uksa ds vad leku gSA 

bdkbZ 1 

1-   fVIIk.kh fyf[k, ¼dksbZ nks ½ & Comment on Any two - 

  1½  izkFkfed lead   2½ f}rh;d laead   3½ lkaf[;dh dh lhek;sa  

  1)   Primary data   2) Secondary data   3) Limitations of statistics 

 

vFkok 

  fuEufyf[kr vadksa ls ek/;] ekf/;dk rFkk cgqyd crkb;saA (Calculate Mean, Median, Mode)  
  

vad ¼ls de½] Marks (less than) 80 70 60 50 40 30 20 10 

fo|kfFkZ;ksa dh la[;k (No of students) 50 45 40 30 16 10 7 3 

 

bdkbZ 2 

2- fuEufy[kr vkadM+ks ls ek/; fopyu rFkk izeki fopyu Kkr dhft,A  

(Find out Mean Deviation , Standard Deviation from the following)   
 

e/; ewY; 1 2 3 4 5 6 7 8 9 

vkòfRRk 4 120 202 304 410 310 48 80 2 

 

vFkok 

 fuEu fyf[kr leadksa ds vk/kkj ij dkyZ fi;lZu ,oa ckmys dk fo’kerk xq.kkad Kkr dhft,A  

(Calculate Karl Pearson and Bowley’s coefficient of Skewness)  
 

o’kZ ¼ls de½] year (less than) 10 20 30 40 50 60 

O;fDr;ksa dh la[;k (No persons) 15 32 51 78 97 109 

 

 

 



 

bdkbZ 3 

 

3- Nk=ksa ds mez o [ksyus dk vknr ds e/; dkyZ fi;lZu dk lg laca/k xq.kkad Kkr dhft,A  

(Calculate Karl Pearson coefficient of Co-relation between ages and playing habits of students)  
 

vk;q (Age) 15 16 17 18 19 20 

fo|kFkhZ (Students) 250 200 150 120 100 80 

f[kykM+h (Players) 200 150 90 48 30 12 

            

vFkok 

 izrhixeu  dh vo/kkj.kk dh O;k[;k dhft,A izrhixeu ekius dh fofHkUUk jhfr;ksa dh foospuk dhft,A   

 Explain the concept of Regression. Also discuss the various methods of measuring regression. 
 

bdkbZ 4 

4- fuEufyf[kr vkadM+ks ls fQ”kj dk vkn”kZ lwapdkad Kkr dhft, %&  

 Find out Fisher’s Ideal Index Number from the following data - 

 2018 2019 

oLrq 

Commodity 

ewY; ¼#-½ 

  Price (Rs) 
ek=k 

Quantity 
ewY; ¼#-½ 

  Price (Rs) 
ek=k 

Quantity 

A 6 50 10 56 

B 2 100 2 120 

C 4 60 6 60 

D 10 30 12 24 

E 8 40 12 36 

 

vFkok 

 dky Js.kh fdls dgrs gSaA blds dkSu&dkSu ls la?kVd gSa \ vki bldk fo”ys’k.k dSls djsaxsA 

 What is a time series? What are its main components? How will you analyze them. 

 

bdkbZ 5 

5-  fVIIk.kh fyf[k, ¼dksbZ nks ½ & Comment on Any two 

  1½  ;ksx izes;    2½ xq.ku izes;    3½ O;olkf;d iwokZuqeku  

  1) Addition Theorem   2) Multiplication Theorem 3) Business forcasting 

 

 



 

 

vFkok 

(A) ,d FkSys esa 8 lQsn] 6 dkyh] 4 gjh  vkSj 2 ihyh xsans gSA ,d xsan  ;knfPNd :Ik ls ,d xsan fudkyh 

tk;s rks mlds dkyh ;k gjs ;k ihyh gksus dh D;k laHkkouk gSA  

 A bag contains  8 white, 6 black, 4 green and 2 yellow balls. If a ball is drawn at random, what is the 

probability of its being of black or green or yellow colour.      

       

   (B) ,d rk”k dh xM~Mh esa ls iku dk iRrk ;k bDdk fudkys tkus dh D;k izkf;drk gSA 

  What is the probability of drawing a card of heart or an ace from apack of card? 

          

 

 

 

 


